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0000000000 #include #include class point { public:
point(doube xx,double yy) { x=xx. y=yy. } void Getxy(). friend
double Distance(point amp.b). private: double x,y. }. void
point::Getxy() { cout} double Distance(point amp.b) { double
dx=a.x-b.x. double dy=a.y-b.y. return sgrt(dx*dx dy*dy). } void
main() { point p1(3.0,4.4),p2(6.0,8.0). p1.Getxy(). p2.Getxy().
double d=Distance(p1,p2). cout} J OO OO O O (3.0,4.0) (6.0,8.0)
DistanceisSPointJ O 0 O 0O 00O OO OO Distance() U O O
ODpoint0 000000000 0OO0OO0OO0OO0OO0OO0O
o000 040000000000000 #include class
Time { public: Time(int new_hours,int new_minutes) {
hours=new_hours. minutes=new_minutes. } friend void
Timel2(Time time). friend void Time24(Time time). private: int
hours,minutes. }. void Timel2(Time time) { if(time.hours>12) {
time.hours-=12. cout} else cout} void Time24(Time time) { cout}
void main() { Time Time1(20,30),Time2(10,45). Time1l2(Timel).
Time24(Timel). Timel2(Time2). Time24(Time2). } 0 O O O O
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OO0 0500000000000 #include class X { friend class
Y. public: void Set(int I) { X=I. } void Display() { coutcout} public:
Int X. static inty. }. class Y { public: Y(int I,int j). Void Display().
Private: X a. }. int X::y=1. Y::Y(int l,int)) { a.x=I. X::y=j. } void
Y::Display() { coutcout} void main() { X b. b.Set(5). b.Display(). Y
c(6,9). c.Display(). b.Display(). } U U 0O O O x=5,y=1 x=6,y=9
x=5y=00 600000000000 0O0OO0OOOOO0OO
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DO0000000000000000 #include class example {
public: example(int num) { B=num. A . } void Display() { cout}
~example() { A--. cout} private: int B. static int A. }. int
example::A=0. void main() { example a(20),b(30),c(40).
a.Display(). b.Display(). c.Display(). } 0 U 0O OO OO B=20,A=3
B=30,A=3B=40,A=3A=2A=1A=00 70000000000
0 O O 0O #include class cat. class dog { public: dog(int 1) { weight=i.
} friend int sum(int total,catamp.a2). protected: int weight. }. class
cat { public: cat(int ) { weight=j. } friend int sum(int
total,catamp.a2). protected: int weight. }. int sum(int
total,catamp.a2) { return total al.weight a2.weight. } void main() {
cat b1(24). dog b2(20). inttotal=0.cout} U OO0 O OO 440 0 O
sumU catU 0O dogU OO0 O0UOOOO0Ooooooon
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